
                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

SolaFrame 1500 Parts List

Item Description
H7400021 BATTERY DISPLAY

H7900021 BELT ANIMATION WHEEL
H7900019 BELT COLOR

H7900032 BELT FOCUS, ZOOM

H7900028 BELT FRAMING LONG

H7900027 BELT FRAMING SHORT

H7900020 BELT GOBO  ROTATE

H7900022 BELT GOBO WHEEL

H7900014 BELT PAN

H7900031 BELT PRISM

H7900033 BELT PRISM ROTATE

H7900023 BELT ROTATING MOTOR

H7900015 BELT TILT

H7900024 BLOWER

H7140011 BUSHING TILT LOCK BRASS

H7140007 CAP TILT LOCK LEVER RUBBER
H7900057 COLOR, BLUE  (GLUED COLOR WHEEL)

H7900061 COLOR, CONGO BLUE (GLUED COLOR WHEEL)

H7900058 COLOR, GREEN (GLUED COLOR WHEEL)

H7900060 COLOR, MAGENTA (GLUED COLOR WHEEL)

H7900059 COLOR, ORANGE (GLUED COLOR WHEEL)

H7900056 COLOR, RED (GLUED COLOR WHEEL)

H7310013 COVER BASE FRONT/REAR

H7900039 COVER BASE HANDLE SIDE  LARGE HOLE PATTERN

H7900038 COVER BASE HANDLE SIDE SMALL HOLE PATTERN

H7140027 COVER BASE LID FRONT

H7140028 COVER BASE LID REAR

H7900037 COVER HEAD

H7900105 COVER HEAD FRONT

H7900034 COVER YOKE ARM

H7900035 COVER YOKE ARM LOCK SIDE
H7900064 COVER YOKE FRONT (LOCK SIDE)

http://www.lightparts.com/


                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

H7900065 COVER YOKE REAR

H7600020 FAN BASE REAR PANEL

H7140014 FAN LED INTAKE\EXHAUST

H7140010 FOOT RUBBER

H7900098 FROST ASSEMBLY

H7310048 FRAMING/IRIS ASSEMBLY
H7150020 FUSE 15A 250V 6x32 SLOW BLOW CERAMIC

H7900043 GOBO ANIMATION

H7900044 GOBO  RIP WHEEL

H7900045 GOBO  CURVED LINES

H7900046 GOBO TECHNOWEDGE

H7900047 GOBO RINGS

H7900048 GOBO  PSYDYE

H7900049 GOBO TUNNEL

H7900050 GOBO BARS

H7900051 GOBO FAN

H7900052 GOBO BREAK UP

H7900053 GOBO BURST

H7900053 GOBO CROSSHATCH

H7900054 GOBO FRACTURE

H7900062 GOBO HOLDER ROTATING WITH MAGNET
H7900063 GOBO HOLDER  ROTATING

H7900068 GOBO SPRING ROTATING

H7900102 GOBO HOLDER STATIC

H7900110 GOBO APERTURE RING ROTATING WHEEL

H7900111 GOBO APERTURE RING STATIC WHEEL

H7900115 HARNESS COLOR MIX PCB TO MODULE

H7140020 HARNESS FRAMING PCB TO MODULE

H7900114 HARNESS GOBO PCB TO MODULE

H7140016 HARNESS MAIN

H7140001 LED HEATSINK

H7900040 LED LIGHT ENGINE

H7900100 LENS FOCUS

H7170073 LENS OUTPUT

http://www.lightparts.com/


                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

H7140034 LENS OUTPUT MOUNT

H7140035 LENS OUTPUT MOUNT STANDOFF

H7900099 LENS ZOOM

H7140006 LOCK TILT

H7900067 MODULE COLOR MIX

H7900066 MODULE FRAMING
H7900095 MODULE GOBOS

H7900096 MODULE ZOOM, FOCUS, FROST, PRISM

H7900017 MOTOR ANIMATION WHEEL

H7150043 MOTOR COLOR WHEEL

H7900025 MOTOR FRAMING

H7900018 MOTOR GOBO 1 ROTATION

H7900026 MOTOR IRIS

H7200025 MOTOR PAN

H7900029 MOTOR PRISM

H7900030 MOTOR PRISM ROTATE

H7900016 MOTOR TILT

H7600022 PCB  XLR

H7900004 PCB CMY, CTO, IRIS,  FRAMING BLADE 4 (5U)

H7900003 PCB COLOR, ANIMATION, GOBO (4U)

H7900011 PCB DISPLAY (1U)
H7900005 PCB FOCUS ZOOM FROST PRISM  (6U)

H7900002 PCB FRAMING BLADES 1,2,3, FRAMING ROTATE (3U)

H7900006 PCB LED DIMMING STROBE (7U)

H7900012 PCB LED HEATER

H7900008 PCB LED INDIGO

H7900007 PCB LED INDIGO CONTROL (8U)

H7900009 PCB LED POWER SUPPLY

H7900103 PCB LOGIC DISTRIBUTION

H7900010 PCB MOTOR POWER SUPPLY

H7900001 PCB PAN TILT  (2U)

H7900104 PRISM ASSEMBLY

H7140009 RING TILT LOCK POSITION

H7140036 SCREW COVER FRONT HEAD (M4x6)

http://www.lightparts.com/


                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

H7140037 SCREW COVER YOKE ARM, YOKE OUTER, BASE FRONT/REAR (M4x8)

H7140038 SCREW RUBBER RETAINING WASHER

H7140039 SCREW COVER INNER YOKE MACHINE (M3x6)

H7140040 SCREW COVER INNER YOKE PLASTITE (ST3x8)

H7300181 SCREW COVER HEAD 1/4 TURN

H7300182 SCREW COVER 1/4 TURN RETAINING WASHER
H7290017 SENSOR COLOR MIX

H7900013 SENSOR ENCODER PAN,TILT

H7900097 SENSOR OPTICS FUNCTIONS, PAN & TILT HOMING

H7140008 SPRING TILT PAN LOCK

H7140021 STANDOFF CMY LOWER MOUNT

80530116 TM30 COLOR FILTER

H7500001 TRUSS MOUNT BRACKET

H7180018 TRUSS MOUNT BRACKET BASE SOCKET
H7140024 WHEEL GOBO ROTATING

H7140025 WHEEL GOBO ROTATING WITHOUT GOBOS

H7140023 WHEEL GOBO STATIC

H7140026 WHEEL GOBO STATIC WITHOUT GOBOS

http://www.lightparts.com/

